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ÂýàÙ-v	 (¹‡ÇU-¥) âãUè çß·¤ËÂ ¿éÙ·¤ÚU çÜç¹° Ñ			   [1×5=5]
	 (Part-A) Choose and write the correct option :

	 (i)	 çÕ‹Îé (–3, 5) ç·¤â ¿ÌéÍæZàæ ×ð´ ãUæð»æ?

		  (¥)	 ÂýÍ× ¿ÌéÍæZàæ	

		  (Õ)	 çmÌèØ ¿ÌéÍæZàæ

		  (â)	 ÌëÌèØ ¿ÌéÍæZàæ	

		  (Î)	 ¿ÌéÍü ¿ÌéÍæZàæ

		  Point (–3, 5) will lie in which  quadrant?

		  (a)	 First quadrant	

		  (b)	 Second quadrant

		  (c)	 Third quadrant	

		  (d)	 Fourth quadrant

		  (iv)	 ÂýàÙ ·ý¤×æ¢·¤ | âð v® Ì·¤ ¥çÌÜƒæé©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU x ¥¢·¤ 

¥æÕ¢çÅUÌ ãñ´UÐ

			   Question Nos. 7 to 10 are very short answer type questions. 
Each question carries 3 marks.

		  (v)	 ÂýàÙ ·ý¤×æ¢·¤ vv âð vy Ì·¤ Üƒæé©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ×ð´ ¥æ¢ÌçÚU·¤ 

çß·¤ËÂ ãñUÐ ÂýˆØð·¤ ÂýàÙ ÂÚU y ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´UÐ

			   Question Nos. 11 to 14 are short answer type questions. Each 
question has an internal choice. Each question carries 4 marks.

		  (vi)	 ÂýàÙ ·ý¤×æ¢·¤ vz °ß¢ v{ Üƒæé©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ×ð´ ¥æ¢ÌçÚU·¤ çß·¤ËÂ 

ãñUÐ ÂýˆØð·¤ ÂýàÙ ÂÚU z ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´UÐ

			   Question Nos. 15 and 16 are short answer type questions. Each 
question has an internal choice. Each question carries 5 marks.

		  (vii)	ÂýàÙ ·ý¤×æ¢·¤ v| °ß¢ v} Îèƒæü©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ×ð´ ¥æ¢ÌçÚU·¤ çß·¤ËÂ 

ãñUÐ ÂýˆØð·¤ ÂýàÙ ÂÚU { ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´UÐ

			   Question Nos. 17 and 18 are long answer type questions. Each 
question has an internal choice. Each question carries 6 marks.



S-4A+	 P.T.O.

[ 3 ]

	 (ii)	 { ¥æñÚU 4 ·¤æ â×æ‹ÌÚU ×æŠØ ãUæðÌæ ãñUU Ñ

		  (¥)	 0	 (Õ)	 5

		  (â)	 10	 (Î)	 –5

		  The arithmetic mean of 6 and 4 is :

		  (a)	 0	 (b)	 5

		  (c)	 10	 (d)	 –5

	 (iii)	  ƒæÙæÖ ×ð´ àæèáü ·¤è â¢BØæ ãUæðÌè ãñU Ñ

		  (¥)	 6	 (Õ)	 8

		  (â)	 12	 (Î)	 16

		  The number of vertices in a cuboid is :

		  (a)	 6	 (b)	 8

		  (c)	 12	 (d)	 16

	 (iv)	 sin30º × cosec30º ·¤æ ×æÙ ãUô»æ Ñ

		  (¥)	 1	 (Õ)	 0

		  (â)	 1

2
	 (Î)	 2

		  Value of sin30º × cosec30º will be :

		  (a)	 1	 (b)	 0

		  (c)	 1

2
	 (d)	 2 

	 (v)	 ÕãéUÂÎ (x2 – 9) ·ð¤ àæê‹Ø·¤ ãñ´U Ñ

		  (¥)	 3, 3	 (Õ)	 –3, –3

		  (â)	 3, –3	 (Î)	 0, 3

		  Zeros of polynomial (x2 – 9) are :

		  (a)	 3, 3	 (b)	 –3, –3

		  (c)	 3, –3	 (d)	 0, 3
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ÂýàÙ-v	 (¹‡ÇU-Õ) çÚU@Ì SÍæÙæð´ ·¤è ÂêçÌü ·¤èçÁ° Ñ			   [1×5=5]

	 (Part-B) Fill in the blanks :

	 (i)	 ØçÎ tanθ = 1 ãUæð, Ìæð θ ·¤æ ×æÙ ——— ãUæð»æÐ

U 		  If tanθ = 1, then the value of θ will be ____.

	 (ii)	 ØçÎ âæßçÏ Á×æ ¹æÌð ×ð´ µØæÁ ·¤è »‡æÙæ ÀUÑ ×æãUè ¥æÏæÚU ÂÚU ·¤è ÁæÌè ãñU, Ìæð 

ÎÚU ÂýçÌàæÌ ——— ãUæð»æÐ

		  If the interest in Fixed Deposit Account is calculated on six 

months basis, then the rate will be as a percentage  ____.

	 (iii)	 ØçÎ 16 : 4 : x  ãUæð, Ìô x ·¤æ ×æÙ ——— ãUæð»æÐ

		  If 16 : 4 : x, then the value of x will be  ____.

	 (iv)	 ßëîæ ·ð¤ ·ð¤‹¼ý âð Áèßæ ÂÚU ÇUæÜæ »Øæ Ü`Õ Áèßæ ·¤æðU ——— ·¤ÚUÌæ ãñUÐ 

		  The perpendicular from the center of the circle to the chord 

makes the chord ____.

	 (v)	 ßëÌ ·ð¤ ÃØæâ ·ð¤ çâÚUô´ ÂÚU ¹è´¿è »§ü SÂàæü ÚðU¹æ°¡ ÂÚUSÂÚU ——— ãUæðÌè ãñ´UÐ

		  Tangents at the end points of a diameter are mutually ____.

ÂýàÙ-v	 (¹‡ÇU-â) âˆØ ¥Íßæ ¥âˆØ çÜç¹° Ñ			   [1×5=5]

	 (Part-C) Write True or False :

	 (i)	 y-¥ÿæ ÂÚU çSÍÌ ç·¤âè çÕ‹Îé ·¤æ x çÙÎðüàææ¢·¤ àæê‹Ø ãUæðÌæ ãñUÐ

		  The x coordinate of any point on y-axis is zero.

	 (ii)	 ØçÎ Îæð ç˜æÖéÁ âßæZ»â× ãUô´, Ìæð ßð ãU×ðàææ â×M¤Â ãUæðÌð ãñ´UÐ

		  If two triangles are congruents, then they are always similar.
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	 (iii)	 tan(90o – θ)U ·¤æ ×æÙ cot θ ãUæðÌæ ãñUÐ

		  The value of tan(90o – θ) is cot θ. 

	 (iv)	 çÁâ ÚUæçàæ ÂÚU µØæÁ ·¤è »‡æÙæ ·¤è ÁæÌè ãñU, ©Uâð ×êÜÏÙ ·¤ãUÌð ãñ´UÐ 

		  The amount on which interest is calculated, is called principal amount.

	 (v)	 â×è·¤ÚU‡æ çÙ·¤æØ ×ð´ ØçÎ 
a
a

b
b

c
c

1

2

1

2

1

2

= ≠  ãUæð, Ìæð ãU×ð´ ¥çmÌèØ ãUÜ ÂýæŒÌ ãUæð»æÐ 

		  If  
a
a

b
b

c
c

1

2

1

2

1

2

= ≠  in the system of equations, then we will get a 

unique solution.

ÂýàÙ-w	 k ·ð¤ ç·¤â ×æÙ ·ð¤ çÜ° â×è·¤ÚU‡æ ·ð¤ ×êÜ ßæSÌçß·¤ °ß¢ ÕÚUæÕÚU ãUô´»ð, ØçÎ   

			   kx2 + 4x + 1 = 0?	 [2]

	 For what value of k will roots of the equation be real and equal, if 

		  kx2 + 4x + 1 = 0?

ÂýàÙ-x	 çÙ`ÙçÜç¹Ì ¥æ¡·¤Ç¸Uô´ ·¤è ×æçŠØ·¤æ ™ææÌ ·¤èçÁ° Ñ

		   25,  23,  45,  40,  42,  38,  32	  [2]

	 Find the median of the following data :

		   25,  23,  45,  40,  42,  38,  32

ÂýàÙ-y	 Áæ¡ç¿° ç·¤ @Øæ g(x), p(x) ·¤æ °·¤ »é‡æÙ¹‡ÇU ãñU, ØçÎ 

		  g(x) = x – 3,  p(x) = x3 – 4x2 + x + 6	 [2]

	 Check whether g(x) is a factor of p(x), if  g(x) = x – 3,  

p(x) = x3 – 4x2 + x + 6
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ÂýàÙ-z	 ×êÜ çÕ‹Îé âð çÕ‹Îé (2, 2) ·ð¤ Õè¿ ·¤è ÎêÚUè ™ææÌ ·¤èçÁ°Ð 	  [2]

	 Find the distance from the origin to the point (2, 2).	

ÂýàÙ-{	 4 tan70o × tan20o ·¤æ ×æÙ ™ææÌ ·¤èçÁ°Ð 	  [2]

	 Find the value of 4 tan70o × tan20o.

ÂýàÙ-|	 vz âð×è. ª¡¤¿æ§ü ßæÜð ÕðÜÙ ·ð¤ ß·ý¤ÂëcÆU ·¤æ ÿæð˜æÈ¤Ü 660 ß»ü âð×è. ãñU, Ìæð ÕðÜÙ ·ð¤ 

¥æÏæÚU ·¤è ç˜æ…Øæ ™ææÌ ·¤èçÁ°Ð   	 [3]

	 The curved surface area of a cylinder is 660 sq. cm and height is 

15 cm, then find the radius of the base of the cylinder.

ÂýàÙ-}	 ÂýÍ× ~ Âýæ·ë¤Ì â¢BØæ¥æð´ ·¤æ ¥æñâÌ ™ææÌ ·¤èçÁ°Ð	 [3]

	 Find the average of the first 9 natural numbers.

ÂýàÙ-~	 ß»ü â×è·¤ÚU‡æ x2 + 2x – 3 = 0  ×ð´ ×êÜô´ ·¤æ Øæð»È¤Ü °ß¢ »é‡æÙÈ¤Ü ™ææÌ ·¤èçÁ°Ð   	 [3]

	 Find the sum and product of the roots in the quadratic equation 

		  x2 + 2x – 3 = 0

ÂýàÙ-v®	 ØçÎ (x + 5) : 45 : : 1 : 5  ãUæð, Ìæð x ·¤æ ×æÙ ™ææÌ ·¤èçÁ°Ð	 [3]

	 If  (x + 5) : 45 : : 1 : 5, then find the value of x. 
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ÂýàÙ-vv	 çÙ`Ù âæÚU‡æè ·¤æ ÕãéUÜ·¤ ™ææÌ ·¤èçÁ° Ñ	 [4]

ß»æü‹ÌÚU 0-10 10-20 20-30 30-40 40-50

¥æßëçîæ 4 10 16 12 8

	 Find the mode of the following table : 

Class-interval 0-10 10-20 20-30 30-40 40-50

Frequency 4 10 16 12 8

¥Íßæ 

OR

	 çÙ`Ù ¥æ¡·¤Ç¸Uæð´ ·¤æ â×æ‹ÌÚU ×æŠØ ™ææÌ ·¤èçÁ° Ñ

ÂýæŒÌæ¢·¤ 30 35 38 40 42 45 48

ÕæÚU`ÕæÚUÌæ 6 5 6 8 6 2 2

	 Find the arithmetic mean of the following data : 

Marks obtained 30 35 38 40 42 45 48

Frequency 6 5 6 8 6 2 2

ÂýàÙ-vw	 ×êÜÏÙ 300 L¤ÂØð ÂÚU 5% ßæçáü·¤ µØæÁ ·¤è ÎÚU âð 1, 2, 3, 4 ß 5 ßáü ·ð¤ çÜ° 

âæÏæÚU‡æ µØæÁ çÙ`Ù âæÚU‡æè ×ð´ ÂýÎçàæüÌ ãñ´U Ñ

â×Ø (ßáü ×ð´) 0 1 2 3 4 5

âæÏæÚU‡æ µØæÁ (L¤ÂØð ×ð´) 0 15 30 45 60 75

	 â×Ø ß âæÏæÚU‡æ µØæÁ ·ð¤ Õè¿ ¥æÜð¹ ¹è´ç¿°Ð	 [4]

	 The interests on deposit Rs. 300 at 5% rate of interest for 1, 2, 3, 4 

and 5 years are shown in the following table :

Time (in year) 0 1 2 3 4 5

Simple interest (in Rs.) 0 15 30 45 60 75

	 Draw the graph between time and simple interest.
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¥Íßæ 

OR

	 ØçÎ PA = PB ãUæð ÌÍæ A ¥æñÚU B  ·ð¤ çÙÎðüàææ¢·¤ ·ý¤×àæÑ (2, 0) ß (–2, 4)  ãUô´ ÌÍæ 

P,  y-¥ÿæ ÂÚU çSÍÌ ãUæð, ÌÕ P ·ð¤ çÙÎðüàææ¢·¤ ™ææÌ ·¤èçÁ°Ð 

	 If PA = PB and co-ordinates of points A and B are (2, 0) and 

(–2, 4) respectively and P lies on the y-axis, then find the co-ordinates 

of point P. 

ÂýàÙ-vx	 çâh ·¤èçÁ° ç·¤ °·¤ â×·¤æð‡æ ç˜æÖéÁ ×ð´ ·¤‡æü ·¤æ ß»ü àæðá Îæð ÖéÁæ¥æð´ ·ð¤ ß»æðZ ·ð¤ Øæð» 

·ð¤ ÕÚUæÕÚU ãUæðÌæ ãñUÐ 	 [4]

	 Prove that the square of hypotenuse of a right-angled triangle is equal 

to the sum of squares of other remaining two sides.

¥Íßæ 

OR

	 çâh ·¤èçÁ° ç·¤ ¿·ý¤èØ ¿ÌéÖéüÁ ·ð¤ â`×é¹ ·¤æð‡ææð´ ·¤æ Øæð»È¤Ü 180º ãUæðÌæ ãñUÐ 	

Prove that the sum of opposite angles of a cyclic quadrilateral 

is 180º.

ÂýàÙ-vy	 °·¤ »æðÜð ·¤æ ¥æØÌÙ ™ææÌ ·¤èçÁ°, çÁâ·¤æ ÂëcÆUèØ ÿæð˜æÈ¤Ü 154 ß»ü âð×è. ãñUÐ	 [4]

	 Calculate the volume of a sphere having surface area of 154 sq. cm.

¥Íßæ 

OR

	 °·¤ ÕðÜÙ ·ð¤ ¥æÏæÚU ·¤è ÂçÚUçÏ 88 âð×è. ¥æñÚU ª¡¤¿æ§ü 10 âð×è. ãñUÐ ÕðÜÙ ·¤æ 

¥æØÌÙ ™ææÌ ·¤èçÁ°Ð

	 The circumference of base of a cylinder is 88 cm and height is 10 cm. 

Find the volume of the cylinder.



S-4A+	 P.T.O.

[ 9 ]

ÂýàÙ-vz	 °·¤ ÃØç@Ì Ùð w®,®®® L¤. v ßáü ·ð¤ çÜ° âæßçÏ Á×æ ¹æÌð ×ð´ Á×æ ·¤ÚUßæØæÐ ØçÎ 

µØæÁ ·¤è ÎÚU 6% ßæçáü·¤ ãUæð ÌÍæ µØæÁ ÀUÑ ×æãUè â¢ØæðçÁÌ ãUæðÌæ ãñU, Ìæð çÙØÌ çÌçÍ 

Âà¿æÌ÷ ç×ÜÙð ßæÜè ÏÙÚUæçàæ ç·¤ÌÙè ãUæð»è? 	 [5]

	 A person deposited Rs. 20,000 for one year in a Fixed Deposit 

Account. If the rate of interest is 6% per annum and the interest is 

compounded every six months, then what amount will he get after 

due date?

¥Íßæ 

OR

	 °·¤ ÃØç@Ì Ùð vz® L¤. ÂýçÌ×æãU ·¤è ÎÚU âð w ßáü Ì·¤ ¥æßÌèü Á×æ ¹æÌæ ×ð´ Á×æ ·¤ÚUÌæ 

ãñUÐ ØçÎ µØæÁ ·¤è ÎÚU 5% ßæçáü·¤ ãUæð, Ìæð ©Uâð w ßáü ÕæÎ ç·¤ÌÙè ÏÙÚUæçàæ ÂýæŒÌ ãUæð»è? 

	 A person deposits Rs. 150 per month in a Recurring Deposit Account 

for 2 years. Find the amount he will get at the time of maturity at the 

rate of 5% per annum.

ÂýàÙ-v{	 6  âð×è. ÖéÁæ ßæÜð °·¤ â×ÕæãéUU ç˜æÖéÁ ·ð¤ ¥¢ÌÑßëîæ ·¤è ÚU¿Ùæ ·¤èçÁ°Ð ÚU¿Ùæ ·ð¤ 

ÂÎ Öè çÜç¹°Ð 	 [5]

	 Construct the incircle of an equilateral triangle of side 6 cm. Write 

the steps of construction also.

¥Íßæ 

OR

	 ç˜æÖéÁ ABC ·ð¤ ÂçÚU»Ì ßëîæ ·¤è ÚU¿Ùæ ·¤èçÁ° çÁâ×ð´ AB = 8 âð×è., BC = 5 âð×è. 

¥æñÚU ÐABC = 60º ãñUÐ ÚU¿Ùæ ·ð¤ ÂÎ Öè çÜç¹°Ð

	 Construct a circumcircle for triangle ABC where AB = 8 cm, 

BC = 5 cm and ÐABC = 60º. Write the steps of construction also.
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ÂýàÙ-v|	 k ·ð¤ ç·¤â ×æÙ ·ð¤ çÜ° â×è·¤ÚU‡æ çÙ·¤æØ kx – 5y = 2 ¥õÚU 6x + 2y = 7 ·¤æ— 

	 (i)	 ¥çmÌèØ ãUÜ ãô;

	 (ii)	 ·¤ô§ü Öè ãUÜ Ù ãUô?	 [6]

	 For what value of k, system of equations kx – 5y = 2 and 6x + 2y = 7 

has–

	 (i)	 unique solution;

	 (ii)	 no solution?

¥Íßæ 

OR

	 ØçÎ ç·¤âè â×æ‹ÌÚU ŸæðÉ¸Uè ·¤æ pßæ¡ ÂÎ q ¥õÚU qßæ¡ ÂÎ p ãUæð, Ìæð çâh ·¤èçÁ° ç·¤ 

(p + q)ßæ¡ ÂÎ àæê‹Ø ãñUÐ 

	 If pth term is q and qth term is p of an arithmetic progression, then 

prove that (p + q)th term is zero.

ÂýàÙ-v}	 çâh ·¤èçÁ° ç·¤

		

1

1
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[6]

	 Prove that
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¥Íßæ 

OR

	 â×è·¤ÚU‡æ ãUÜ ·¤èçÁ° Ñ

		

cos

sin

cos

sin

θ
θ

θ
θ1 1

4
−

+
+

=
	

	 Solve the equation :   
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